Apartment in Sliema



Reference No: 240231027-159

Sliema, Sliema and St Julians Surroundings



€780,000

Total Rooms: 6

Bathrooms: 3

Floor Area (m²) : **121**

Bedrooms: 2

Apartment - For Sale - Sliema

SLIEMA - CORNER APARTMENT situated on the 6th floor in a brand new development located in Tigne Point area less than 1 minute away from the seafront. The accommodation comprises a spacious open plan Kitchen/Living/Dining leading to the front Balcony with side sea views, a Bathroom, and 2 spacious Bedrooms both with En - suite and Balconies with side sea views. The property is being sold FREEHOLD, designer finished with high quality furniture and ready to move into. Viewings can take place immediately.

Features

- 🗸 Lift
- En Suite
- Water Utility
- Gypsum Plastering
- A/C
- Double Glazed

- Kitchen/Dinette
- Walk in Wardrobe
- Electricity Utility
- Towel Warmers
- Fire Safety
- Balcony

Rooms

- Kitchen/Living/Dining : 4.1 x 8 m (32.8 m2)
- Double Bedroom : 3.36 x 3.05 m (10.25 m2)
- Double Bedroom : 3.3 x 3.68 m (12.14 m2)
- Bathroom : 3.97 x 3.41 m (13.54 m2)
- Bathroom Ensuite : 3.2 x 1.28 m (4.1 m2)
- Bathroom : 2.1 x 2.4 m (5.04 m2)
- Open Space : 2 x 3 m (6 m2)
- Open Space : 2 x 1 m (2 m2)
- Open Space : 2 x 1 m (2 m2)















































Rimels Muca RE/MAX Centerparc - Qormi

M: 99964410 E: rimels@remax.com.mt T: 27344344

RE/MAX Centerparc - Qormi Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta